Solve each equation, showlng all the
steps and all the work! Graph the
solutions for all inequaiities,

*Challenge problems — not on the
test, but give them a tryl
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35) Write an algebraic expression for each
word phrase.

a) 7 more than a numbery

a) F+y

b) 6timesthesumofdandy

b) L(H+Y)

¢} 11less than a number

¢) X -1l

d) half the sumof mand5

4) 5 (m+5)

e) 9 more than the product of 6 and a
number

e) 94+ ba

f) 6 less than the product of 13 and a
number

B 1% <0

g} 2 less than a number divided by 8

9P -2

h) twice the quotient of a number and
5
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h) &(—g‘—s) or :'—2-;;3.3

35) At the Boston Aquarium there Is a
fish tank which has 7 . fish init.
There are 3 more than 4 times as
many clown fish as goldfish. How
many of each type of fish are there?

55} Let x= %oi&{‘-fshw?m
3¢y = Clowns =59
X+ SeHAR = +3
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36) In the North Pole there are 186 male
and female penguins which were
tagged. 30 less than 5 times the
number of males were tagged than
females. How many of each were
there?

3) Let x = Females = 3b
5){_‘30 t Males = 150

x+5x-5o=‘. 18(5

- 2y= 8k
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37) The total weight of Sam and his son,
Dan,is 250 pounds. Sam'’s weight is
10 pounds more than 3 times Dan’s
welght., How much does Dan weigh?

| 33) Let x = Dan's = (p0 k3.
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38) Gina and Mary were paid $126.50

) for babysitting over the weekend.

Gina made $18 less than 6 times as

much as Mary. How much did each

girl make? {round your answers to

the nearest cent)

3¢) het x = Mavy
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24410 = Sam’s
K+ D+ 10 =250
= 250
Hyx t% 10
Hy = AHO

= b0
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Lx-18 = Gina =105-50
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+ 18 + 1§.00
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39) Find p and then tell how many degrees each
angle is. Angles CBH and ABE are called
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39) Angles oalled verticals
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40) Find ¥and then tell how many degrees
each angle is. These angles are called

\b

149° 13x + 5°
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40) Aotjaccnf" but bhetter

nane is swpplementary.

g+ 13 +5= 130
|3x + 154 = 150
- (B - (54
13x = 20
X= 2
bz 13(2)+s¥ 31°
a = fl-qub




41) Find x and then tell how many degrees
each angle is.

Hi) &x-ﬂl/-* 105
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L ABE = 105° -

2 Ccpp= a(58)-11=105°
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42) Find x and then tell the measures of each
angle. These angles are called

H2) Angles ¢ alled Complemertiony .
Ty ave also adﬂaccnto

)+ 3¢ +3 =90

3+ FH =90
~¥6 —15

3;{:: 5
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/. emD = 3(5)t3=18°




43) Solve the proportion.
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5 2

44) Solve the proportion.
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